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12. A company that manufactures graphics cards for computers uses the formula
c= 300%/}172 to determine the cost ¢, in dollars, of producing » cards. How
much will it cost to produce 1000 graphics cards? { £ 30, 000
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13. A red blood cell is 7 x 107° m in diameter. There are about 2 x 107" {7>< 10 (2}( ,0"3)
~ blood cells in a 125-1b person. If all of the red blood cells were hned up end to
end, how long would the line be? Write your answer in scientific notatlon Y =
L";if‘.g
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Graph each function on graph paper.
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21. A population of 2000 fish increases at an annual rate of 7. 5%. - ”ﬁ??{’ Y = 2000 ( [ 0‘75) ]

a. How many fish will there be in 10 years?
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b. Write a function f{(x) to represent the equwalef&yearly Increase v E‘“‘“ ‘“*\

in population. e
S - z
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’{‘&2‘\‘ b. Howmuch will you have in your account after 3 ye ears")
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23. The function y = 41 - 0.95" models the difference (1
men’s and women’s finishing times forthe Boston Marathon The number of
years since women first officially ran the race in 1972 is represented by x.

a. Does the exponential fumction represent growth @ 490 V=Y g ‘%}?8

b. Estimate the difference between finishing times in 1990. f;’{g / Y= 4.3 mm WS
¢. Predict the difference between finishing times in 2015, _ . o
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Write each expression in exponential form.
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